:\LD 2004\03030167\DWG\LIGHTING DETAILS.DWG
arch 16, 2006 3:27:51 p.m.

2" SLIP—FIT 250W HPS LUMINAIRE
MAX. WT. 75 LBS.

MAX. PROJ. AREA 1.5 SQ. FT.
. 2 3/8" 0.D. TENON
8-0
NOM. ARM SPREAD i
i WA GRS
T
L__..-D_ 3
NOM.
40'-0" NOM.
APPROX. 1/3 MTG. HT.
oF 40'-0" LGTH. [
: 5-9" RADIUS
5.60

ROUND SPUN TAPERED ALUMINUM DAVIT 6063-T6
/. 185-6.53" X 4.02" X 17'~11"

18" NOM.
FIELD JOINT

6.32 (2) 5/8” DIA. THRU BOLT STUDS W/ (2) HEX NUTS PER
STUD, (2) FLAT & (2) LOCK WASHERS STN. STL. PER STUD

INTERNAL VIBRATION DAMPER

16 FLUTE SPUN TAPERED ALUMINUM TUBE 6063—T6
.188—-10.00" X 5.94" X 29'-0"

CLAMP~ON BANNER ARM

20A 125V DUPLEX RECEPTACLE NEMA 5-20R W/ COVER
CONTRACTOR TO DRILL 1" DIA. @ EACH ARM LOCATION
MANUFACTURER TO PROVIDE 11/16” 1.D. GROMMETS

CLAMP—ON BANNER ARM
—(2) SETS, (3) EA. 1/4” DIA. SET SCREWS @ 120"
|<—z'v3" NOM. (TYP.)

CAST ALUMINUM FINIAL

S50W HPS LUMINAIRES

3" SCH 40 STEEL PIPE
CAST ALUMINUM CAP W/ S/S SET SCREWS

2 1/2” SCH 40 STEEL PIPE

CAST ALUMINUM SCROLL & COLLAR W,
1/2" S/S HDWE. & (2) 5/16" DIA. SET SCREWS

’,\?O;,g CLAMP HALVES W/ 5/8" DIA. GALV'D. BOLTS
L (PAINTED STRUCTURES ONLY — WITH FLAT &
200 17 LOCK WASHERS)
14"-0" NOM.
MTG. HT. BRACKETS AND LUMINAIRES SHOWN
FOR CLARITY. SEE TOP VIEW

LIGHT STANDARD DETAIL

MATERIAL SPECIFICATIONS

POLE & DAVIT TUBES | 606316
ANCHOR BASE &

HANDHOLE FRAME AAS5E-T6
BOLT COVERS ASTH-B26{AAI5E)
ANCHOR BOLTS NUTS | ASTM—A563 CR. A
ANCHOR BOLTS ASTM—F1554_GRI0S

STN. ST HARDWARE ~|AIST 300 SERIES STN. STL.
PEDESTAL BASE TAST ALUM. —AASTOF

4" X 8" HANDHOLE FRAMES W/
1/2-13 GRD. LUG & COVER ©@ 0"
ON ALL DESIGNS ORIENT AWAY
FROM TRAFFIC FLOW

30" &Sihe 1-1/2" THK. X 15 3/4"
A CAST BASE

(4) 1”7 X 40" LG. THD. END
GALVD. ANCHOR BOLTS W/ (2)
HEX NUTS EACH ON A 15" B.C.
(10 5/8" CTRS.), 5 " PROJ.

LUMINAIRE ARM §

180° ANCHOR BOLTS ON 45° 'S
DAVIT ¢

ORIENTATION FOR ALIGNMENT. [T ——
« o 1 o
LUMINAIRE ARM ¢ &
o HANDHOLE ¢
TOP_VIEW ORIENTATION
#726 CAST ALUMINUM
SPLIT PEDESTAL BASE W/
TWO DOORS @ 180°
NQIES:
L_ 1) POLE & DAVIT HEAT TREATED TO -T6
' _pn . TEMPER AFTER WELDING.
267 DA 0 FOUNDATION SURFACE WITHIN 2) DESIGNED IN ACCORDANCE WITH 2001 AASHTO
MUST BE LEVEL FOR 90 M.P.H. WINDS AND 50 YEAR DESIGN LIFE.
3) FINISH PAINT: PER SALES ORDER.

AB A5 A4 A3 A2
. a P - .
XA = A XA X A XA
ANNIE GLIDDEN
B6 B5 B4 B3 B2 B1
a o Py > & .y
3B "L B X B "X B 3 B pa
m o
<z
2314
=0
sz
z
X
e 28,8 8 o &
: 258 #a B &

2 AMP FUSES —
IN TWO POLE
FUSE HOLDERS

™S
X
~ )

7/
l/
4
~

5 AMP FUSE —

a4

LY
N#m T
\

\#10 T0 FESTOONE/OU E'I/'/\ /

- N
N

TO_50W_FIXTURES
N
N
N

#0 T0 250\4 FIXTURE

KA R
SIS

& % & %
X %,

ROAD
D1 D2 D3 D4 D5
T D D L D L D > D
1]
=
E
(33
25 LEGEND
4
3 @  LIGHT STANDARD
) GROUND ROD
CONTROL INSTALLATION

ELECTRICAL CABLES IN UNIT DUCT
2 # 1/C 250 WATT LUMINAIRES
2 #8 1/C 50 WATT LUMINAIRES
2 #4 1/C FESTOON OUTLETS
1 #6 1/C GROUND

t— 2 AMP FUSES

IN TWO POLE
FUSE HOLDERS

*:;—5 AMP FUSES

IN TWO POLE
FUSE HOLDERS

POLE
GROUND
LUG

# GROUND

T0
GROUND

% %,
X, \o%
& N\

POLE WIRING DETAIL

2" UNIT bUCT

F.AU. ..Lontract SHEE
87330 X

TOTAL
COUNTY Igfire

RO N TRACT N
5348 |55 00160-00-WR

DEKALB | 140 | 67

STREET LIGHTING DETAILS

F.H.W.A. REG.5 [ILLINOIS [PROJECT HPP>2295(001)

TAYLOR
STREET

S. MALTA
ROAD

NAME DATE

REVISIONS

DIVISION OF TRANSPORTATION
STREET LIGHTING DETAILS

ANNIE GLIDDEN RD

DRAWN BY: JMH
CHECKED BY: DAY

SCALE: NONE
DATE:  6~15-05




